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Sample Questions

ARFEA ATHGE -
THIS QUESTION PAPER CANNOT BE TAKEN AWAY.

AFEFERE - V7EREEE - SRI2EERA TTREWEUNER -
DO NOT turn over this Question Paper without approval of the examiner.
Otherwise, contestant may be DISQUALIFIED.
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All answers should be written on the ANSWER SHEET.
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Section A — each question carries 4 marks

1) FEx*+9x+20=0 > REH x 1IEAMHE -
If x> +9x+20=0, find the largest real possible value of x.

2) Fdx'<8x—4 > Kx NEBFIREMENEHE -

If 4x*> <8x—4, find the number of integral possible value(s) of x.

3) 3K2015°7 =20161YEREL -
Find the remainder of 2015%"7 =2016.

4) EHEE LB A(-3,9) 1 LEIRREL 4 0 KLYy #EE -
If a straight line L passes through 4(-3,9), and the slope of L is 4. Find the y-intercept of L.

5)
6)
7)
8)

~ FisE ~

~ End of section A ~

AR AERER - Bt EERET R HEERM - WHECR R BEiT T8 SRt RS RSN -
BEFEADIRAFTTR - Wz iR AR R - BRSNS HAL - SRR A G TR %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.
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Section B — each question carries 5 marks

9)

10)

11)

12)

13)
14)
15)

16)

IR Ox +6x + (k—7) = O BFIR » 5K k iYARAC(E -
If quadratic equation 9x”+6x + (k — 7) =0 has real roots, find the largest possible value of k.

EL x| o x BOGEEHE » 25 x> 3| +2<0 > 3K x (95 IME -

It is known that |x| is the absolute value of x. If x* — 3|x| +2 <0, find the smallest possible value of x.

AABC () =(ETERE TR By A(=2,1) ~ B(3,-1) F1C(5,1) » K&K A B4R 712 - DI—fFR
(=AIPH TR BT =P E A SR TR LR © )

The three vertices of a triangle A4ABC are respectively A(-2,1), B(3,—1) and C(5,1). Find equation

of the median of the triangle AABC passing through 4. Show your answer in general form

1EAABCH » BC=12 ~ AC=11}; AB=17 - K cos ZAWIHE - (LAY EFETEZX)
In AABC,BC =12, AC=11 and AB =17. Find the value of cos £4. (Show your answer as fraction)

~ ZH5 ~

~ End of section B ~
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All answers should be written on the ANSWER SHEET.
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Section C — each question carries 7 marks

17) B4 x fi& NYIEERJTIZ4H » K x WY/ NEREE -
If x follows the congruence relations below, find the least possible positive integral value of x.
6x=>5(mod7)

5x=3(mod11)
2x=9(mod13)

18) THIx<1H (log, x)" ~log, x* =5 » 3K x fyfH -
If x<1 and (10g7 x)z —log,, x* =5, find the value of x.

19)
20)

- 2B ~
~ End of Paper ~

AR AERER - Bt EERET R HEERM - WHECR R BEiT T8 SRt RS RSN -
BEFEADIRAFTTR - Wz iR AR R - BRSNS HAL - SRR A G TR %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



